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o HAETLA Nsts SHAA 422
400,000 » 200 & = 23 1,600
02 5524t 30,344 30,344
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- JIES 8,000 * 325 * 12& 3,072
- MEE 2E 120,0008 * 5 A+ 12 7,200
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Ci4ME BEUHHOE 29 81,770 81,770
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Al 271,956
SAOHE EZEHMA 2= 85,060 94,760 29,700
2 40,000
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O get=&H| 1,720
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60,000& = 12& 720
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O 2g=¢ 2,200
o LARIEFES FA4
100,000& = 11H « 23| 2,200
02 =224l 7,600 7,600 0
O 3322 ¢ HA 3,600
o Z2ZA=EXEE 2R
300,000& = 12& 3,600
O AIE&EHI KX H 4,000
o 2ZA=EX3 2 MIIS FANE=>
4,000,000& = 14 4,000
202 O4dl 5,540 5,540 0
01 = LH 4 Hi 5,540 5,540 0
O “Atgd 2 SURX S 2RE2
85,000& = 2% * 3g » 33 1,530
O “A2IEEs MOIL & /38 4
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04 SIZ2ISHAAISH E & 10,000 10,000 0
O AtHTHoH = NS RS2 s ABIZD
CHal 10,000,000& = 13 10,000
405 XHo&HF S HI 4,800 0 4,800
01 XAt 2 FF S| 4,800 0 4,800
O L AISIAESEOS AIR=2 A ¢ 4,800
o 30 AT} 800,000& * 1 800
o 121 AT} 400,000 * 9JH 3,600
o AIHOIS 400,000& = 1JH 400
CAIOIEES 45 K& 50,000 50,000 0
= 40,000
Al 10,000
307 QI2t0| ™ 50,000 50,000 0
= 40,000
Al 10,000
02 QI2tAAMAIE E =X 50,000 50,000 0
O LAIDIEESE E43AY
50,000,000& * 13l 50,000
= 40,000
Al 10,000
22 258 226,896 98,400 128,496
LSYHEAMHA &9 119,048 52,400 66,648
201 gEt24Hy| 2,400 2,400 0
01 AP 2t 2] d| 2,400 2,400 0
O gbtx==H| 2,400
o Al D8 Z2L2A 29
200,000& = 1€  12& 2,400
307 212t0| ™ 116,648 50,000 66,648
02 QIZHEAAIE E X 50,000 50,000 0
O TSHaEL 29 AFY
25,000,000€ * 200 A 50,000
05 QIZ2t &2 66,648 0 66,648
O HERE CSHEH 29 AIY
33,324,000 * 24 66,648
22X Y S AL 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
04 CIZ2tSH AFALS B X 8,000 8,000 0
O 22X Y A
4,000,000 = 2JHESHH « 13| 8,000
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osl: 228 =2XEX CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
22X 80ts A 38,000 38,000 0
307 gl2tol & 38,000 38,000 0
04 DI2ZHHALALSE E X 38,000 38,000 0
O 22X &0ts MsEA
33,000,000& * 13l 33,000
O bttt SHEAL X SHEE A
5,000,000& = 13l 5,000
2 xtel XA 61,848 0 61,848
307 21201 A 61,848 0 61,848
05 RIZt2IEt = 61,848 0 61,848
O O=poheh D3I dXeldH 29
30,924,000& * 298  1JHEHA 61,848
HE2HZH (AT XA D) (IEHDIIEL) 75,576 71,344 4,232
el 2 15,424 7,817 7,607
ol 2| 15,424 7,817 7,607
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O A28 13,024
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201 et 37,180 41,958 N4, TT8
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O Let=3Hl SHAHL 20,476,000& * 14 20,476
O SEHl SUAH& 16,704,000& = 14 16,704
202 oddl 10,450 10,770 A 320
01 = LH o4 1l 10,450 10,770 A 320
O BN2E SUNHY 10,450,000 » 14 10,450
203 YR =2t 12,522 10,799 1,723
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O MHESFASEE 5,000,000& = 14 5,000
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